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WRITINGSECTION A COMPOSITIONThe Work of Today Must

Be Done TodayI was often told “I will do this work

tomorrow.There is much time awaiting for us”.They delayed their

work of today till tomorrow and tomorrow’s till the day after

tomorrow.At last nothing of their services will be succeeded.I think

such a maxim as The work of today must be done today, must be

well known to every one. But why should we finish our work

today?We must know that if we work today we would save

tomorrow and the day after tomorrow,too.If we delay the work of

today we would delay the work tomorrow. Suppose that you give up

the exercise of arithmetic or English of today to be finished

tomorrow, you will delay the exercise tomorrow to the day after

tomorrow. And the same thing will reoccur day after day.At last you

will find you are lagged behind.So why should not finish today

then?SECTION B NOTE-WRITING Dear Marjorie,Your husband

just told me the wonderful news!I know you wanted a baby boyand I

can just imagine how thrilled and happy you must be!Now little

Mary will have the baby brother she’s been

wanting!Congratulations from my husband and myself.We wish you

joy and happiness with your son.Fondly,ClairePART Ⅲ

LISTENING COMPREHENSIONSECTION A STATEMENT 1. 

答案 A【试题分析】本题是语义辨析题。【关键词语】 acted



as,cowboy,film star【详细解答】解答本题的关键在两点，一

是John常演cowboy，二是他本身是个演员，与cowboy没有必

然联系。要注意act as的用法。2. 答案 A【试题分析】本题是

词义辨析题。【关键词语】 set up history week【详细解答】首

先要明白set up的含义，即组织、安排，相当于arrange.其次

是history week的意思，是历史宣传周；这样就能明白Sandra是

为了为镇里搞地方历史宣传安排了一个展览。所以A项符合

句意。3. 答案 A【试题分析】本题是语义辨析题。【关键词

语】 never,other than【详细解答】关键是理解never...other than

的意思为“除了⋯谁也不”，即该婴儿除了对Judy笑，对别

人一概不笑。所以说他只对Judy笑，这就是选A项的原因。4. 

答案 B【试题分析】本题是一般推理题。【关键词语】

Only,pass,take【详细解答】本句句意为“只有通过考试的人

才能学习更进一步的课程。”注意限定词only的用法。两个

要点，一是必须通过考试，二是学习进一步的课程与通过考

试的关系。5. 答案 C【试题分析】本题是一般推理题。【关

键词语】 because of,high【详细解答】要注意两点，一是天气

的因素，二是操作费用提高与天气的关系。注意区别cost 

与coast的读音，weather与whether的不同，及operating 

与operation的不同。6. 答案 B【试题分析】本题是一般推理题

。【关键词语】 no worse...than【详细解答】如果能理解no

worse...than意为“没有比⋯更糟的”，本题就容易解答了。

原句意为“没有比在购物中心练习驾驶更糟的地方了。”由

此推断，购物中心是最不适于练习驾驶的场所。此外，通过

常理排除法也可找到正确答案。7. 答案 B【试题分析】本题

是语义辨析题。【关键词语】 full,it wasn’t【详细解答】注意



后半句是对前半句的肯定和进一步加强语气。此外full与fool

要注意区别。按常理判断，不可能说宿舍是fool，只能是full

，意为住满与否，vacant意为空余的，所以B项符合句意。8. 

答案 B【试题分析】本题是语义辨析题。【关键词语】

so...that...not,catch【详细解答】事实上本题是考察so...that结构

，由于其后用了否定，相当于too...to，明白了这一点，就不

难判断本句意为“由于她回答得太快，以致于他未理解她的

意思。”注意catch此处意为明白某人的意思。 100Test 下载频

道开通，各类考试题目直接下载。详细请访问

www.100test.com 


